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U5D8 MCR3UI Warm Up: QUIZ

Proving Trigonometric Identities (Continued)
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Recall: Ql: tanf = Pl: sin%0 + cos?’0 =1
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Today, include: Reciprocal Identities (RI):

1 1
co-secant: cscf = e secant: secfd = —
sin@ 5 cos@
co-tangent: cotf = —
tan®

Example 1) Prove.
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b) 1+ tan26 = SeCZG
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USD8 Worksheet: Trigonometric Identities

Prove each identity.

1. sinf = cosftanéd
2. cscf = secBcotfh

3. cos@ sin @ cot 8

4, secf = cscOtan¥d

5.1+ cscA = cscA(1 + sinA)

6. cotBsinBsecB =1

7. cosC(secC-1) = 1-cosC

8 1+ sinD = sinD (1 + cscD)

9. 1-sin?6 = sinf cosb coth
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10.

11.

12.

13.

14,

15.

csch = cot?0 + 1

cos@ 1-sin@

1+sinf  cosf

cosd + cosd 2
1-sin@ 1+sinf cosé

csc? 6 cos?0 = csc?h-1

secd
tan @ + cot @ = —
sin
cotd
=cosf
cscd



